Best model for HELP J143214.734+340352.042 at z = 1.35 x2=1.01
OPTx2=1.05 IRY?=1.18 threshold (OPT IR)=18.8 [um]

Flux [m])y]

102 Stellar attenuated
= e Stellar unattenuated
: m —— Dust emission
1 . —— AGN emission
10 . = Model spectrum
® Model fluxes
M oObserved fluxes
10°
107!
,.,f’“'f"“\
'-{,:"';—.\,-'um,h_v _ﬂ' e b
1072 :
10°3
ELRE
= 1 E
= ] ==f=(Obs-Mod)/Obs
S ]
S
n
] o B It ) o o ——y—y— e B O A L L L L .
o ]
) ]
2 ]
S ]
® -1 , ! CIGALE
()
(o'

10° 10! 102 103 104 10° A
Observed wavelength [um]



